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1. What does the woman mean?
[A] She does not mind.
[B] She wants the man to smoke over there.
[C] She will go away.
2. Where does the dialogue happen?
[A] In a shoe shop.
[B] In a book store.
[C] At home.
3. What time will the film begin?
[A] At 8:50.
[B] At 9:10.
[C] At 9:00.
4. What is the probable relationship between the two speakers?
[A] Teacher and student.
[B] Father and son.
[C] Brother and sister.
5. How many students are there in the man’s class?
[A] 10.
[(B] 20.
[C] 30.
6. Whose school bag is the most beautiful?
[A] Bob’s.
[B] Nancy’s.
[C] Tom’s.
7. What is in Julia’s hand?
[A] A cat she got on her birthday.
[B] A hat her grandpa gave her.
[C] A cat she will send her grandma.
8. Who is not in the picture?
[A] The boy’s grandpa.
[B] The boy’s grandma and his parents.
[C] The speaker himself.
9. How long will it take to get to the cinema if on foot?
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10.

11.

12.

13.

14.

15.

16.

17.

18.

[A] Only 15 minutes.

[B] More than 15 minutes.

[C] Less than 15 minutes.

What time is it now?

[A] 8:00.

[B] 7:30.

[C] 8:30.

What are the two people talking about?
[A] Spring holidays.

[B] Summer holidays.

[C] Summer places.

What’s the opinion of the woman?

[A] Women are better teachers than men.
[B] Women are better doctors than men.
[C] Men are better teachers than women.
Why can’t Tom answer the question?
[A] He doesn’t know the answer.

[B] He can’t see the blackboard.

[C] He doesn’t understand the question.
What will they do in the end?

[A] Go to the shops.

[B] Stay at home.

[C]BuyaTV.

What does the woman’s father do?

[A] He is a scientist.

[B] He is a teacher.

[C] He is a businessman.

What is the price for the tomato?

[A] Ten dollars for a kilo.

[B] Two dollars for a kilo.

[C] Twenty dollars for a kilo.

How is the woman going to New York?
[A] By train.

[B] By sea.

[C] By air.

What does the man want?

[A] A single bathroom.

[B] Three single rooms.

[C] A single room with bath.



19. Where is the man most probably?
[A] At a hotel.
[B] At a bank.
{C] At a shop.
20. What color does John prefer?
[A] White.
[B] Blue.
[C] Yellow.
21. What is David’s favorite drink?
[A] Coffee.
[B] Beer.
[C] Tea.
22. How are they going to the theatre?
[A] By bus.
[B] By taxi.
[C] By train.
23. What is the woman looking for?
[A] Spring flowers.
[B] The station.
[C] A hotel.
24. What did the woman do last Sunday?
[A] Watched the football game.
[B] Made plans.
[C] Saw a play.
25. What is the price for a sofa?
[A] 55 yuan.
[B] 50 yuan.
[C] 100 yuan.

FW WTE2S BYERMA, 8B ERMEBEE LA /DE, NETETAH A,
B, C 3 MBI Pk i BAER T, RSN E., WEEMIER MR, KEH 5 B4
BB E] B BN /N TS IS, B/ NEDR A S e AR R, BEBSHER MO EME.
UrEh 1 B A e, EES 1,2 .
1. Who is arriving on Thursday afternoon?
[A] The woman’s mother.
[B] The man.
[C] Mr. Adams.
2. Why didn’t Mr. Adams answer the phone?
[A] He was out.



[B] He went to meet his mother.
[C] He was busy.

W5E 2 Bt iE i e, EES 3,4 B,
3. The man is having his meal
[A] with his wife
[B] with his friend
[C] alone
4. What drink does the man have?
[A] Mushroom soup.
[B] Beer.
[C] Juice.

WrEE 3 BOMIE M A, EESE 5,6 .
5. Why must the man go?
[A] Because he will otherwise miss the bus.
[ B] Because he wants to catch the last train.
[C] Because he has something important to do.
6. When does the bus go?
[A]10:00.
[B] 10:50.
[C] 10:15.

WS 4 BB E, B 7,8 &,
7. Where does the conversation take place?
[A] At Mary’s home.
[B] At a pub.
[C] At Charlie’s home.
8. Why are the buses so crowded?
[A] Because there are fewer buses.
[B] Because it is the weekend.

[C] Because it is cheap to take buses.

W58 5 B E S E, EEH 9,10 &,
9. What’s the probable relationship between the two speakers?
[A] Husband and wife.
[B] Boss and worker.
[C] Salesman and buyer.
10. What color of shoes does the woman prefer?
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_A] White.
'B] Blue.
[C] Black.

TS 6 BEXTIE M, FA S 11, 12 /8.
11. What does the man want?
[A] A suite.
[B] A double room.
[C] A single room.
12. How many days will the man stay at the hotel?
[A] 20 days.
[B] 21 days.
[C] 2 days.

WrE 7 BTSSR E, S 13,14 .
13. What are they talking about?
[A] A computer expert.
[B] The man’s computer.
[C] A little mouse.
14. Who do you think will mend the computer?
[A] The man.
[B] The woman’s father.
[C] The woman.

WrEe 8 B IR, &4 15,16 B,
15. Where are the two speakers now?
[A] On a train.
[B] At the airport.
[C] At a hotel.
16. Where is the first speaker going?
[A] To America.
[B] To China.
[C] It doesn’t say.

Wreg 9 BXHESR A, F&SE 17,18 5,
17. What does the man invite Carol to do?
[A] To go shopping.
[B] To go to the cinema.
[C] To go to the theatre.



18. Why doesn’t Carol like going on Saturday?
[ A] Because she is not free on Saturday.
[B] Because there are many people on Saturday.

[C] Because it will rain on Saturday.

W 10 BXHERM A, EEH 19,20 &,
19. Who is Pat calling?
[A] Tom.
[B] Anna.
[C] Rose.
20. Why is Pat calling?
[A] Because she wants to invite Anna to tea.
[B] Because she wants to borrow an English dictionary from Anna.

[C] Because she wants to see if Anna has her Chinese dictionary.

WrEE 11 BB A, E& S 21,22 M 23 &
21. How will they go?
[A] By plane.
[B] By car.
[C] By train.
22. What’s the climate like there?
[A] It is rather cold and rainy.
[B] It is fairly warm.
[C] It is windy and cloudy.
23. When will they probably leave?
[A] Friday.
[B] Saturday.
[C] Sunday.

WSS 12 B iE i El., ]2 55 24, 25,26 &
24. What did the woman suggest the man doing?
{A] Go on studying for a higher degree.
[B] Look for a better job.
[C] Go on a holiday for a change.
25. What kind of job is not suitable for the man, according to the wornan?
[A] Medicine.
[B] Computer.
[C] Driving.
26. What does the man think of the job as a computer programmer?
7



[A] It is boring.
[B] It is appealing.
[C] It is demanding.

WrER 13 BXT SR e, E& % 27,28,29 .,
27. What’s David’s problem?
[A] He has a sore throat.
[B] He has got a headache.
[C] He runs a temperature.
28. Why does the woman want to give David a ride?
[A] Because David lives near her house.
[B] Because David feels too sick to drive a car.
[C] Because David doesn’t have a car.
29. Will David come to work tomorrow?
[A] Yes, he will.
[B] No, he won’t.
[C] It doesn’t say.

WS 14 BXTIERME, EES 30,31,32 &,
30. What are the two men talking about?
[A] Coffee.
[B] Exams.
[C] Football matches.
31. Why is Bob so busy recently?
[A] He has several football matches to play.
[B] He takes quite a few courses.
[C] He has an important examination to take.
32. Will Bob come to see the football match on Friday?
[A] Yes, of course.
[B] No, he won’t.
[C] It’s unknown.

WS 15 BxHE M E, FE S 33,34,35 &,
33. Where is Jim?

[A] He is at home.

{B] He is out.

[C] He is at the office.
34. What does Jim like?

[A] He likes taking medicine.



[B] He likes drinking beer.

[C] He likes making friends.
35. What will Dave do later?

[A] He will wait for Jim’s call.

[B] He will come again.

[C] He will give Jim a phone call.

W4 16 BIXHIEE M, BIE 5 36, 37,38,39 &,
36. What does the man worry about?
[A] The weather forecast for today.
[B] The sports meet.
[C] The weather for today.
37. How is the weather in the morning?
[A] Fine.
[B] Clear.
[C] Foggy.
38. What does the woman think the weather will be in the afternoon?
[A] It’1l be stormy.
. [B] 1t’ll clear up.
[C] It’ll continue to be foggy.
39. What does the woman suggest that the man do?
[A] Listen to the weather report on radio.
[B] Read the weather forecast in the newspaper.
[C] Call about the weather forecast.

WrsE 17 BEXHERM A, BIE S 40,41, 42,43 &
40. Why did Tom want to go and eat out?
[A] Because he was tired of the food his father cooked.
[B] Because nobody cooked when his mother was away.
[ C] Because he enjoyed hamburgers.
41. Why wouldn’t Tom do the driving?
[A] He was not old enough.
[{B] He didn’ t know the way.
[C] He was a little tired.
42. Is apple pie Tom’s favorite desert?
[A] Yes, it is.
[B] No, it isn’t.
[C] It doesn’t say.
43. What can we learn from the dialogue?

9



[A] Tom and his father often ate out.
[B] Tom and his father ordered too much.
[C] Tom’s father knew nothing about cooking.

W 18 BB, E 5 44,45,46,47 B,

44.

45.

46.

47.

How will Bob and his wife spend their holiday this year?!
[A] To go to Egypt.

[B] To stay at home and look after everything.

[C] It remains to be decided.

Why does Bob hesitate at travelling to Egypt?

[A] No one will take care of his house.

[B] He is not very interested in the country.

[C] The travel cost might be high.

What is the advantage of travelling by sea?

[A] One can have a comfortable journey.

[B] One can enjoy the beautiful scene of the sea.

[C] One can have a better rest during the voyage.
What’s the problem for Bob’s wife about a trip to Egypt?
[A] Who is to look after everything.

[B] How long it will take.

[C] What they can see on their way.

U4 19 BB B E, E& 5 48,49, 50,51 &,

48.

49.

50.

51.

What is the man doing?
[A] He is calling to get some information about the flat.
[B] He is calling to ask the woman for advice.
[C] He is calling to ask about the rent of the flat.
Where is the flat?
[A] Beside a park.
[B] Near a shopping center.
[C] In the center of the town.
Which floor is the flat on?
[A] The 6th floor.
[B] The 16th floor.
[C] The 60th floor.
What does the man think of the flat?
[A] He doesn’t like it.
[B] He seems interested in it.
[C] He thinks the rent is too high.
10



W4 20 BOE R M A, BESE 52,53, 54,55 &

52.

53.

54.

55.

Where does this conversation take place?

[A] In a library.

[B] In a bookstore.

[C] On a sports field.

Why is the woman unable to find the book she needs?
[A] It’s the first time she’s come to the library.
[B] There’s only one reading room in the library.
[C] It is not available.

Where is the General Reading Room?

[A] Beside the library building.

[B] In a white house across.

[C] In the teaching building.

How many reading rooms does the library have?
[A] Five.

[B] Six.

[C] Four.

4 21 B A, B 5 S6,57,58,59 &

56.

57.

S8.

What did Mr. Young do?

[A] He was an office worker.

[B] He was a company manager.

[C] He was the owner of a private business.

What was Mrs. Young worried about?

[A] Her husband’s health.

[B] The company’s business.

[C] Her husband’s vacation.

Why didn’t the secretary explain what had happened?
[A] Because she didn’t want to spoil Young’s vacation.
[B] Because she could manage it herself.

[C] Because she had forgotten it.

59. Which word best describe the secretary?

[A] Considerate.
[B] Intelligent.
[C] Stupid.

e 22 BrstiEs A, B 60, 61,62,63 &,

60. What was the cinema’s telephone number?

11



61.

62.

63.

[A] 3464.

[B] 3463.

[C] 3643.

Why was Mrs. Jones surprised at the phone call?

[A] Because it was from a stranger.

[B] Because the man asked questions and answered himself.
[ C] Because the caller knew her telephone number.
According to Mr. Jones, why didn’t the man want to go to the cinema?
[A] Because he was feeling tired.

[B] Because the film had already started.

[C] Because the price was too high.

What do you think the man’s wife wanted to do?

[A] Go to the cinema with her husband.

[B] Stay at home.

[C] Eat out with her friends.

e 23 BE M E, EE S 64,65, 66,67 &,

64.

65.

66.

67.

What are people busy doing before Christmas?

[ A] Buying Christmas trees.

[B] Doing Christmas shopping.

[C] Making preseﬁts.

What is the speaker going to buy for her elder brother?

[A] A recorder.

[B] A radio.

[C] A record.

Why didn’t her elder brother come for Christmas last year?
[ A] Because he was too busy.

[B] Because he was sick.

[C] Because the road was too dangerous.

[D] Because the weather was terrible.

What is the main idea of the passage?

[A] Christmas is a festival for family reunion.

[B] The girl’s brother will come back home for Christmas.
[C] People are busy doing Christmas shopping.

[D] People are busy with all kinds of preparations before Christmas.

U8 24 BEXTIEE M E, BE& 5 68,69,70,71 &,

68.

What are the man and woman talking about?
[A] What a wise young man should be like.
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[(B] What a young man shouldn’t do.
[C] The woman’s son.
[D] The man’s son.
69. How does the woman feel about her son?
[A] He is still too young to do anything bad.
[B] He is a very good boy.
[C] He will grow up to be a wise young man.
[D] He is born wise.
70. Where does the conversation take place?
[A] On a train.
[B] At the woman’s home.
[C] In the street.
[D] At the man’s home.
71. Which of the following best describes the man’s feeling at the end of the talk?
[A] Disappointed.
[B] Surprised.
[C] Amused.
[D] Annoyed.

Wi 25 B IERME, F& S 72,73,74,75 5.,
72. When did Mrs. Harris phone the plumber?
[A] On the 20th.
[B] On the 21st.
[C] On the 22nd.
[D] On the 24th.
73. When did the plumber finally arrive?
[A] On the 20th.
[B] On the 21st.
[C] On the 24th.
[D] On the 25th.
74. When do you think the plumber went to Mrs. Smith’s house?
[A] Three days after her call.
[B] On the 21st.
[C] On the 20th.
[D] Four days after her call.
75. When do you think the plumber would come to Mrs. Harris’ home to fix the faucet?
[A] On the 24th.
[B] On the 25th.
[C] On the 26th.
13



[D} Unknown.
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